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1) (6x6) -4 =
2) 21 +7)+3 =
3) 91-(8x9) =




1) (6x6) 4=







3)91 -(8x9) =
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1) 201-(8x9) =

2) 4 x (909 - 808) =

3) 1,000 - (624 = 6) =

4) 4,008 -~ (2x4) =
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1) 201 = (8 X 9) = corrieeiiiiiiannns

129 1 UUAINBUNEUUAEUNE

Ws1e 201 TnatAsg 200 wag 72 Tnawdes 70

200-70 = 130 @9 129 lndee 130
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2) 4 x (909 - 808) =...cccevrrreennn

404 \Jusnauilauvneuna
W31z 909 TnalAese 900 uaz 808 lnaldes 800

000 - 800 =100 wa¥4 x 100 =400
d9 404 Tnawdes 400
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3) 1,000 - (624 + 6)
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3) 1,000 - (624 + 6) =....cceererennnn.

896 WUANDUNAUMARUNE

WSS 624 Tnathee 600 wag 600 + 6 = 100

1,000 - 100 = 900 uag 896 InatAws 900




4) 4,008 + (2 x 4)
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4) 4,008 + (2 X 4) =..ccuveereennnn.

501 WuAINBUNAUUATUNE

W51 4,008 lnatdas 4,000
was 4,000 + 8 = 500
J9 501 TlnawAee 500
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1) (356 — 149 ) + 628 = | 2) 8 x (1,205 - 379 ) =
LUIAR LUIAR

Ay Ay

3) (1,500-261)+3= 4)935+ (375+5) =
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5) (38x24)-517 = 6) 1,000-(468 +2) =
LUIAN LUIAN

Ay Ay

7) 9,009 +(3x3) = 8)(144+9)x43 =




